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PHILOSOPHY — HONOURS
Paper : CC-8
(Western Logic — 1)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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(c) Use Fell Swoop to determine whether the first schema of the following sets implies the second : 4

() p>(qvr) (i) pog
(d) What, according to Quine, is a valid schema? What, for him, is a consistent schema?
(¢) Write any one difference between full-sweep and fell-swoop. 2
(a) Construct a formal proof of validity (any three) : 4x3
(N (ZDZ)>{ADA)

(ii)

(i)

(iv)

{ADA)D(ZL>DZ) /. ADA

Mo N
MoO(NoO) /" MD20O

If you study the humanities then you will develop an understanding of people, and if you study
the sciences then you will develop an understanding of the world around you. So if you study
both the humanities and the sciences then you will develop an understanding both of people
and of the world around you.

Etither the robber came through the door, or else the crime was committed inside and one of
the servants is implicated. The robber could come through the door only if the latch had been
raised from inside; but one of the servants is surely implicated if the latch was raised from the

inside. Therefore, one of the servants in implicated.
(b) Prove the invalidity of the following argument by assigning truth-value.
A=s(Bv()
B=(CvA)
C={AvB) /. BvC

(a} Express the following in symbols using quantifiers, variables ctc. (any four) :
(i} There is no fool who does not think himself clever.
() Dogs and cats will bite if they are either hungry or irritated.
(ii) Trespassers will be prosecuted.
(iv) Common cold is never fatal.
(v) Sima is a wonderful dancer but not a good student.

(b} Prove the invalidity of the following arguments :

{1} (x} (Gx o Hx)
(x) (Ix > ~ Hx) /.. {x) (Ix o ~ Gx)

(i) {x) (Lx > ~ Px)
(3x) (Px-0Ox) /.. (x) (Ox o ~ Lx)
{c} Construct formal proof of validity (any one) :
(1) Socrates is mortal. Therefore, everything is mortal or not mortal.

(1) Acids and bases are chemicals. Vineger is an acid. Therefore, vinegar is a chemical.

1 Va4

3+3

3x]
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[English Version]

The figures in the margin indicate full marks.

1. Choose the cormect option (any ten) . 1x10
(a) An argument is valid if
(i) the premises must be acceptable.
(i) the conclusion must be acceptable.
(iii) the conclusion necessarily follows from the premises.
(iv) (i) and (it) both.
(b} An affirmative categorical proposition does not distribute its
(1) predicate term (ii) subject term

(1) Both (i) and (11) (iv) None of these.
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Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

1. Choose the correct alternatives in each question (any fen) : %10
(a) The Protection of Human Rights Act in India was enacted in the year
(1) 1993 (i) 1994
{iiny 1995 (iv) 1996.
{b) Which one of the following categories of fundamental rights incorporates “abolition of untouchability™?
(i) Right to freedom of religion (i) Right to equality
(i) right to freedom (1v) Right against exploitation,
(c) The Universal Declaration of Human Rights was adopted on—
(i) December 1, 1948 (1) December 10, 1948
(i) December 11, 1948 {iv) December 31, 1948,
(d} Right to education is guaranteed under Article
(i 14 (i) 19
(i) 21-A (v) 21.
{e) “Where there is no property, there is no injustice™ — Who said this?
() Rene Descartes (i) Thomas Acquinas
(i) John Locke {iv) Immanuel Kant.

(f) Which one, according to Locke, is a natural right?

(i} Right to education (i) Right to property

(1) Raght to revoit (iv) Right to equality.
() Who wrote the book Two Treatises of Government ?

(1) Thomas Hobbes (ii} Jeremy Bentham

(ii)) John Locke (iv) Aristotle.
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